Quiz 4

Name: Student Number:

CALCULATORS ALLOWED.

1. (3 marks) A grandfather clock ticks 1 sec on Earth. It is then moved to Mars where the

acceleration due to gravity is % that on the Earth. What is the period of the clock on
Mars?

7= [ > T 1] e
o ’

J

= 22U |

Mavs N Shers
jﬂ__,.

\Id).v'gg,,‘r)-)\

?JFZ YEG.F"F\'\ ol

-~ 7 F1

e

2. (3 marks) Consider the elastic collision shown below. Find three independent equations
for the unknown final velocities. Explain where each equation comes from. (Note you
are not asked to solve the equations!)
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3. (4 marks) Consider the collision below.
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a) What is the ratio of the masses?
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b) Is the reaction elastic? If not, what happened to the energy?
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